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GOOGLE SLIDES
PRESENTATION

P59

Using digits 1 through 8,
place each number in each
shape under one condition: This lock has a 3 digit code.

The number in each square Can you crack it using these hints?

has to be the sum of its two
neighboring circles

6 8 2 < One number is correct and in the right place
6 1 4 < One number s correct but in the wrong place
2 O 6 * Two numbers are correct but in the wrong place

22 &) o Nothing is correct

What has 13 hearts b
organs?
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VOLUME FOUR

30 VISUAL
TEASERS TO
SHOW AS A

WHOLE GROUP
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30 TOTAL BRAIN TEASERS!

CRAIN TEASERS 4C * ALSO AS 3 WORKSHEETS
% 10 QUESTIONS EACH
 PRINT AS HANDOUTS
» ASSIGN IN GOOGLE CLASSROOM
» ANSWER KEYS INCLUDED

BRAIN TEASERS

volumesfour

BRAIN TEASERS 4C
volumesfour

21. Jackis looking at Anne. Anne is looking at George. Jack is married, George is not, and we don't know if
Anne is married. Is a married person looking at an unmarried person?
Yes. If Anne is married, then she is married and looking at George, who is unmarried. If Anne is

You can find itin Mercury, Earth, Mars, Jupiter and Saturn, but not in Venus or Neptune. What is it?

Five people were eating apples, Afinished before B, but behind C. D finished before E, but behind B.
What was the finishing order? 0years

BRAIN TEASERS;

Tomorrow's yesterday. Yesterday's tomorrow. What is it?
V.0 lumesfolls.

What coat is best put on wet?

11. Guess this abbreviated phrase? 13 Sonthe USF / 13 stripes on the United States flag

12. What has 13 hearts but no other organs? A deck of card

BRAIN TEASERS

volumesfour

Asundial has the fewest moving parts of any instrument that measures time. Which has the most?

An apple is 40 cents, a banana is 60 cents and a grapefruit is 80 cents. How much would a pear be?
" ANSWER KEY

1. You canfind itin Mercury, Earth, Mars, Jupiter and Saturn, but not in Venus or Neptune. What is it?
The letter "R"

What four letter word can be read the same forward, backward and upside down?

2. Five people were eating apples, Afinished before B, but behind C. D finished before E, but behind B.

Your parents have 6 sons including you and each son has 1 sister. How many people are in the family? What was the finishing order?

CABDE

. T " . Y " . What is it?
There are two fathers and two sons. They walk into a candy store and each buys a candy bar for 50 3. Tomorrow's yesterdzy. Yesterday's tomorrow. What st

cents. The total for all of the candy bars was $1.50. How is that possible?

10. What are two things that make this numbgiluinique: 8,549,176,320

ASSIGN AS i .
PDF PRINTOUT OR e

cents. The total for all of the candy bars

GOOGLE DRIVE

10. Whatare two things that make this nu

I It has each digit, zero through



- PRINT FOR THE CLASS -
- ASSIGN THROUGH GOOGLE CLASSROOM -
- INDIVIDUAL, AT HOME, OR GROUP WORK -
- EMERGENCY SUB PLANS! -

 MAKE IT A RACE »
 MORNING BELL RINGER e
* FILL THOSE LAST 5 MINUTES
* HOLIDAY FUN DAYS »
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